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Common salt is made up of

i)  Strong acid and strong base
B) Strong acid and weak base.
(C) Weak acid and strong base
(D) Weak acid and weak base -

@iraTHin @Gﬂw‘r_iagg STETGoT a_lln_j 2L ED
(A) | Gﬁaﬂsmm @ Sibleoid + susﬁ]a}m'ﬂ@ SR
B) assﬁla;mlﬁl@ Sifleid + Gﬁaﬁlmm @EBDBES PO -
(C)  edaw gopbs Siblown « audlaw Wig S

D)  auddewd GODHS &lLﬂG’DILb + auellantd @enphES STTD

Who founded the “Wahabi Movement” in India?

A Abmed of Boreilley (B) Saiyid Ahmad
(©) . Vileyat Ali - (D) Mohammed Ali
Qiureild aursmd Quissms Osm_iiduet wri? ‘

(A)  GDLF el 9Qmisd) _ B)  osug sapog
©  eflermug o o | (D) Qurapibwg) =i

‘The Rajkot college in Kathiawar” was estabhshed by Whom?
Lord John Lawrence . (B) Lord Curzon

M Lord Mayo _ ' (D) Lord Ripon

sgSlweurfled ‘grghsm’ mb@_[rﬂmu_l Bmielwieuit wim?
SDITEAT QOITIFeaTen L9 ' - (B sirever liry,
W GuGwr L‘l}gu ' (D) Aduer Sy
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4, Gandhi-Irwin pact signed-on

e 5March 1931

(®B)

©
®)

126 January 1931

24 January 1932
28 January 1932

a&mhg-Girellen guubgd Celuiu’ L ar®) orgy?

(&)
B)

©

(D)

5 womité 1931

26 spamoulfl 1931
24 &a‘qmﬁ] 1932
23 gpameutfl 1.932 |

5. The term ‘Sang'rahlta durmg Vechc penod denotes

(A) Chief Revenue Collector (B) Foreat Chief

\J Exchequer - ' (D) Chief Accountant
Goug sragde ersjaﬂl;rélgrf cr@]m GsumGgDrn_rr GHuug)
A s el cu@a&'luue:.m ' (B) @Wsem @Jarggjmmu.lrr
©

HHRHOT - (D) W@m seRTEETent

-

6. The Muhtasibs during the maughal period acted as

il

®)
©
™

Censors of public morals

Chief recruiting ofﬁeers of soldiers
Chief J udiciel Officer |
Chief of Post and Intelligence

| PES@MUIT STeosHd @psiugmﬁlmsr‘@g;@urrgﬁmu Ricuflsgeni? -

Y

®

(©
)
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T - Who among the following was considered as the Chief Architect of Indian Secularism?
(A) Gandhi '
d Jawaharlal Nehru
(C) B.R. Ambedkar
(D) Rajagopalachariyar
Spsaramueursener @pHw wasemmisnamwuiear Apllurs smgliu@ueuT wmir?
@A) smd
(B) geuanirere Gpm
(C) B.R. opCussnit
(D) @r}rrg@aarru.nm&rrﬁ]unfr

8. Which is deepest harbour in India?
(A) New Tuticorin (B) Visakhapatinam
(C) Kandla W Paradwip

@bSHwireden 1B& DLLOLOTET HIHHAPSLD 6TE)?
@) ug §1585Gk: , B) edlsmsluligend
(C) SEHTL_G0IT (D) L.II'TUEI;I

9. The first Indian to present Indian Music at UNESCO melting in Paris was
(A) M.S. Subbulakshmi
M Ravi Shankar
(C) Bismillah Khan
(D) A.R. Rahman _
unflev paMd yQaavGar spdlnder Curg @b Qamsmw v s QB Qass smaEHT
(A)  erb.eren. s G &6
(B) pod srus

©) Qevdever smem

D)  g.yi. ganwrer
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10. - The leading prodizcef of Jute in India is
(_WestBengal. ) S B) Bihar °

(C) Tamil Nadu - (@) Orissa.

seme 2 pusHIS eSS 2 ver AL wrHewd

(A) Cuhe eumsmemd ®B) Sswi
© - sOpETH ‘ o : D) odlsr

11.  The railway system started inTodiain = . o
@ 1852 e e
(C) 185 S ®) 1720
@pdureiles Gyulle @uiré;@mq@ A1 1b @u-iﬁd!r@QJqDUI'_Lg,l
@A) 182 - . (® 1853

© 1855 - S D 1720

12, Loamy Podzols is the,

‘W MountainSoil (B)  Black Soil
(C) Peaty . + (D) SalineSoil

" LT STeD LDEHT CUEHS TELIZ)

A) 'Immwuugﬁ@dﬂ o | ®) e weir
(C) 151_ S _- : (D) o Gt LoeiT
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13.

14.

15.

16.

3 .16 9 256 81

rd

@ (b @@ @ (@

What will come in place of (d)?

(A) 872 sd!f 1296

(&) 1774 (D) 2016

4 9316 9 - 256 81
@ (b © @ (@

(d) —am AL sreRTs.

Aa) 872 (B) 1296
© 1774 - (D) 2016

If * isdefined as a*b= abb , find the value of 3*(3*-1)

d -3 i LB =15

: 2
o -1 D) 3
a*b= o orar * erarm Gewedl auemwennssILLLTe, 3 *(3* —1)—6&ﬂ L srams.
a -+
A -3 ' B) -15
2
C -1 . D) =
© D) :

The smallest-perfect square divisible by each of 6, 12 and 18 is

(A) 196 (B) 144

(€) 100 - ) 36

6,12 wpmib 18 ydlw erarraermed eu@LHID AL auiés eTeRT ,eg) 6T5)? -
A) - 196 . B) 144

(©) 100 (D) 36

Find the least number which when divided by 6,7,8,9 and*12 leaves the same remainder 1 -
in each case

(A) 375, - (B) 490
505 M) 550
6,7,8,9 wpmib 12 2é eugu®b Qumeps BH 1 erear eupd WssA M eranmenflenes smeirs.
(4 375 . (B) 490
(©) 505 (D) 550
7 ' RAGS/19
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. Then its area is increased by

iBeT LIl arggemen F5eS50 ifsNsen?

- crafled 9 emeumeaueTaIHIIET argy & wimens;?

17.  If the side of a square is mereased by 20%
@A) 20%
® 40%
) - 256%
& 1w
(% &@gﬁﬁe&r nésib 20% ifsflsdpg erafla
A)  20%
B 40%
O 26%
D)  44%
18, Tetx=1+ ——-—%ﬂ*—— Which of the following is corréct?
' 1+— I
1+-—
1+..00
@  x’+x+1=0
B) x-£+1=0
(@ x*+x-1=0
% x2-x-1=0
x=1+ 1
1
1+ I
1+
1+..00 .
A xf +;x+1=0
(B) .x2 —-x+1=0
() xP+x-1=0
S D xT-x-1=0
- RAGS/19



19.

20.

If x:y=3:4 find (4x + 55): (5x - 2y)
(A) 7% 32

B) 9:3

@f 32:7

M) 12:7

x:y=3:4 crafle (4x+5y):(5x~2y) -G%ng‘;]ul_[aan-sﬁur

(A) 7:32
B) 9:3

(©) 32:7
®) 12:7

If * is defined as x *y = x>+ y® — xy, then the value of 9 * 11 is

A 93

£ 103

© 113

O 121

xxy=2x+ 9y — xy aran * eremm Qewied cuapuMSSLILLLI: 9 * 11 - ar iy sreawrs.

A 93 ‘

B) 103
(C) 113
D) 121
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21 Inm the folldwing question, choose one ﬁumb_er w-'hich- is similar to time numbers in the giv;en
' set. S ' S
| 4513, 1021, 8725, ——— : |
o oscs S @ e
() e84 . ) 2037
Epangmy D Glg,ﬁL@é;@ QAuIrEEsLTaT erarmaman Caitay Qs
4513, 1021, 8725, o
4 9868 . . (@B 5324
© 6834 . @ 2997

.22, Fmd the l.eng"th.of the altitude of an equilateral triangle of sides 3J3em ;
A 54 . ®) 40

g 45 o @ 42

3-\/_ Q.15 g UL OameRT_ B0 SLUES @oseasrrmg.ﬁlar @gglm T Grans.

@ 54 | L ® 40
. (O 45 S (D 42
23. AisBs sister. Cis B’s son Dls Cs daughter Dls——-—-—-—-;-——of A
0 Grand daughter R (B) Grand son
(©C) Mo_ther ‘ | R . (D) Father

A’ serueuit B w@r sGamsfl. ¢ aréraui B wdr waen. D arémai C W wadr arafles D erereurt

Adar N
@ Gusd S ® Cua
O e D) spes

RAGSS - 10 - SN



24.

25.

26.

2 8 64 10

TheHCF of =, —, —— — jg§
3’9’81’ 27

2 g 2
( ) 3 81

160 ' : 160
ey = B
@ _ ) s
"2",§,—4,£—@L5,Gun,6ua;rr6&ur
3°9°817°27

i 2
A — B e
e e B

160 - - 160
() e _ 160
©) 3 _ (D) =

If 60% of —2— ofé number is 36, then find the Number

A) 80 \( 100

©) 75 90

@rr @TGuoT 600t ) 60T %ml_lfua‘%]siﬂ 60% —eir &l 36 erafley Sibs eTaTeneRTE STeT.

(A) 80 , , (B) 100
© 75 - D) 90

The Rural landless Employment guarantee Programme (RLEGP) was started in the year
(A) 1965 : (B) 1968 '
© 1975 & 1983

sarya HleownCorr Ceuame raun‘ulljl_; o2 Ml S b Osm sl L %é&oT(b\
(A) 1965 (B) 1968

(© 1975 (D) 1983

11 e ~ RAGS/19
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27. India changed over to the decimal system of coinage on
' March, 1947 _ | '
<
\g( April, 1957
(C) May, 1967

(D) June, 1977

@BHwur — g&w p.namru WPODES WP STeLd
(A) orirg, 1947 |

(B) eure, 1957

(C) Guw, 1967

D)  gfam, 1977

28.  In India, National Income is calculated with the help of

\( Three Methods

(B) Two Methods
(C) Four Methods

(D) One Method

Qipdwreiler Ca&lw aumLomanDd ergsemen penmaaT eurudens éwéﬁLuu@ﬁg@?
&) epény eopser

B) - Qua® apepsaer

©) preng ppapsdr

D) oo wen
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29.  The time of reverberation can be decreased by
(A) Choosing a larger hall
(B) Having a number of loud .speakers
: M Opening all the windows and doors
(D) Speaking aloud

aHipés Crrsms SpaemmLcunhle srémin APALD GENMEHHEOMD?
A) Quilu smrssams CaibsHEswD

B =bs ‘-ﬁmaﬁlwnw @ALmSHS@ET S@DESWTLD

(C) SIDENSF) FRTATOEET OHDID HSEUS@ET MBS QS]L_Q)&Lb

(D) ssswrs Cuswmd

30. The resistance of a metallic wire is 1 ohm. The wire is stretched to double its length. Now,

the resistance of the wire is

@) i— ohm
o iohm
©: 2obm
®) 8ohm

WergeL 1 @b Qaram. gm 2 Carss s ApEssLLLE g Hard @@ LLRsTEsIUBHSADS.
@QuQumpgl 2i&sbAuder WleTSemL

@ 7 ev
B) 4gb
(C) 2gib
D) 8
= : ' 13 RAGS/19
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31.

39

1 33.

After ovulation endocrine part of ovary is called as

(A) Corpus callosum M Corpus luteum -

(C)  Corpus Spongioum - @) . Corpgs albicans

ST el GrAhE 6 premdidar ugHumen e st ———————- Grar &mggé;asﬁﬁ@-ﬂmgj.
A  srius s8arEDb - (B)  smiue gmigub
{C)  amiusv SISl : (D) smiueh sidsenen

Match the following .
ListI =~ " Last 11

(a) Hemophilia 1. Female _
- ‘()  Y-Linked" 2. Christmas disease
(c) Barr bodiés ‘ 3.  Chromosomes
@ XX ' 4.  Holandric gene
, (2) (b) © @
- (A) 4 3 2 1 .
®B) 3 "4 -1 2
1 2 4 3
2 4 1 3
WeneumusubhenD Beammssad
ULligwed I . Ll guwe I -
(a) - afGuwm 1 9eflwm 1. Quew -
®) Y- @eweriy 2. Aficvgnoav Cpmis
(cj i Uiy . 8. &CoCurCsrbsdr
@ XX 4. epGarenfls gl
(a) (b) © @
A 4 3 2 1
@ 3. 4 . 1 2
© 1 2 4 3
D 2 4 1 3

The ecology of individual organisms (or) species i called

(A) Synecol'qu : . Autoecology

(C) Habitat ecology - M Population ecology
spflevaufuedd saf 2 diflend sidag GsrEiy 2 Wifland Gréjéung] amg&&ﬂu@ﬁe&rm@?
(A)  osafl ghHoauiud C o (B) | e G gpfleafue .

(C) GCsOCLLl @Qﬁmmuﬁluéﬂ (D) umyGaager GpHlancdudwed
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34. Meghalaya was created as an autonomous state within the state of
(A) Mizoram : (B) Manipur
‘d Assam (D) Arunachal Pradesh

Cusreomur erhg wrblossaier swr 8 wrflowrs 2 (HeursslulLg)?
(A) WIGsmyd B) werfluyr

(C)  =yevenmbd I D) mewrrsse 97CssD

35. Pick the odd one out

Andaman and Nicobar Islands are famous for

Rose Garden, Ross Island, Cellular Jail, Havelock Island

w Rose Garden , (B) Ross Island
- (C) Cellular Jail (D) Havelock Island
SGU Dreneng B :

sipgorer Ha&Carunt Seysaflen s Aruewrer &HmET SeTHIsET
Gymggr yist, Grmev oy, Agagyent e, Canduas Say
(A)  Coprgr ybeT B) Cgmev oy

(C) Qsogemi flevm | D) Caneuws Sey

36. Which Indian State is called as ‘God’s Own Country?

(A) Tamilnadu (B) Andhra
w Kerala _ (D) Karnataka

QpHurellen erpg wmhlen ‘sLeyafldr Coew’ eranm SiompsstL®Eng?
Q)  sOPHIE - (B)  pfyr

(C) Cayerr D) sprLsT

= 15
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37. Whois the first Governor of Reserve Bank of India?
\4 Sir Osborne Smith
B) Sir J ames Taylor
(C) H.V.R.Iyvangar
(D) © M. Narasimhan

B @rdu Asie arhddien WPse SeuTant wWTi?
(B) s ghevGuren ol
B) e Ggl.;naf_u AT
Gy GT&G!S]:%IT RIS
D)  end. préiboen -

38. - Who Won the 2018 Presidential Election of Maldives?
(A) Mohammed Waheed Hassen
(B) - Abdulla Yameen .
o Ibrahim Mohammed Solih
(D)  Mohammed Nasheed

. 2018-6 wMDIea-6 gmrr,ﬁugﬁ Caigedled Qeumi ng)ma.lrr wrir?
(A Q.pa;mmg; cundlg) amsen
: B) sLugder u_|rrL_Bsiﬂ. .
©  @umrabio wsibiog Cene
@ gsbogipeds

39. Which city will host Asian Para Games in 20267
“(A) NewDelhi- . (B) Jokarta
W Nagoya’ - .~ (@ Tokyo

2026 -6 %.ﬂtu LIRTT aﬁ]meﬁu_lrn_(B GurrL_upﬁ}msm BLEHD parsder duwi e‘ramsr?
(A ymE G - B gasigr
(C) BrGETwir S D) CLrsHGwr

RAGS/19 o T



40. Who wrote the book “The Ministry of Utmost Happiness”

A Arundhati Roy

(B)  Anita Nair
(C) Shoba De
(D) Sudha Murthy

“The Ministry of Utmost Happiness” erenm LiSg&5m5 er(pSlwieu wimm?

Q)  apHss mi
B) eflsrprwr
(© GasmurGL

D) s opisd

41. Who wrote the book “I do What I do”?
(A) Arvind Subramanian B)

M Raghram Rajan et (D)

“I do What I do” erenp Ussssams er(dwieu wimi?
(A)  ereilp slipwenilwen B)

©  nEymb prgen ' (D)

42.  Where is the United Nations University situated?

A Tpkyo ®)

(C) Paris D)

mEflw CosHwl ULSMOSLPHID 6TTEIE DiEDHSIETATS?
(A) GLrsfGumr )
C)  wunffev D)

Arun Jaitely
Shashi Tharoor

3l(Hesor Gegr_ed)

564l it

Washington

London

cumadlmiL_eim

GUEBITL_68T

RAGS/19
[Turn over



43, Natlonal Commlssmn for women was constltuted in
(A)  April, 1993 (B) J anuary, 1994
January, 1992 M -Aprll, 1994

QL!GSSTEB@&S&E!TGET Gg,é]u_r BLEGRTILID amma;suuu_gﬂ
(A) sj‘l_lr,ra) 1993 “ (B) ggameufl, 1994
© goraf 1992 D) gl 1994

44. The Salary and other emoluments of the speaker and deputy speaker ﬁxed by
(A) Lok Sabha (B) - Rajya Sabha
M Parliament ' (D) President

SURBTLIST LHIID  SHenew FUTBMUST pHCuimiar sarfluipld @GP veRT) Lwenser wrgme

Blirssrwss LS D ?
(A) QGorssur _ (B) @ursyw sun
(C)  umpm@senmmId . ' (D)" G LITE FEnEaT

45. . For the first time in the 16" Lok Sabha elections the election commission deployed.
(A) Genefal Obsefvers | | " '
(B) 'Expe_llaiture Observers
(C)y  Police Observers

J Awareness Observers

CoiTHe Sy enemuh Apger (y:-sep)u_lrra; udlegmoreug) Lnésa;erremmg_'r, CGaigeller Q&u@n&&ﬂﬁ@§ﬁﬁ4§;
(A)  Gurgd LmfreneuwiTei -

(B) Qswellem’s umeneuwimert

tC) ' -GEI;I'G]JGi) UM @& LTSt

(D) ePiresrivay Lirfenauumentt

'RAGS/19 . 18 T e



46.  InIndia, the Administrative Tribunals Act was passed by the pérliament in the year
@A) 1980 | . (B) 1983 |
@ w8 (D) 1987
- @pHurele Hireurss Sruumud aLl_l.n uMpEROEDESTE BlanpGabpin L sa@m® ag?
(4) 1980 | | (B) 1983
() 1985 C ™) 1987

- 47.  Consider the folowing rights
(i) - Rightto educat_io'n _ _

" @) Right to equal accéss_ to public service
(i) Right to food | |
Which of the above is/are human rights under ‘universal declaration of Human Rights'?
(A& only(® . (B) ) and (i) | |
(©) . only i) W ©, @ and ()

*

. Bp&aaL e.flamwamens ufidoamer Qsws
) seed efew
(ii) | Qurgl Gammt&@ B‘LD;S)JITH'_II_JL@@LD.
(ﬁi) e eTeyEaETe e Nem |

Spsaam_aipBied argl/erees siauCpe wells 2 Meweaar GF_smsHd o FaTSTEL?

@A) @ wlp 0 B ) wpgd (@)
(© @) vl S R ®) O, () ooy ()
48, - articles deals with centre-state relations in India.
- A Article 245-293 . (B)- Article 256-263
(C)  Article 264-293 D) Article 245-255
BiHurefe mgﬁﬁ—w'n@m 2 paysaet ubB GROAGL ciifacreuar
(A) 245 s 293 cwenguimen el fser B) 256 apger 263 auanpwirent ahlflsar

(C) 264 s 293 cuengwinen el faar (D) 245 apad 255 auenuinar el fadr

49.  In which article deals official languages n In_dia.

(A) o Article 341 - . (B) Article 342
Article 343 - _ _ (D) Article 344
o eNuimens) @pSwmedéd S EsfssCLC L Quontflaaments LG @@L}tﬂ@_ﬁmg
(A) 341 augi 8 . - * B 342 gz edd.
©€) 343ageff ' (D) - 344 aug) A
= - - 19 P RAGS/19
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50. - Exp aﬁsion of DDT is _ _
«0 ~ Dichloro diphenyl trichloro ethane
- ®B Difriethjrl dichlog:o trichloro ethane
(C)  Dichloro dipheny] tetrlachloro ethane |
(D) Dichloro diplienyl'tric‘hloro ethylene -

DDT. GTETLIEET Afassn _
(A) -Gm_-@GaTnthfrr L Senereb ey @GarrGyr rrg,@g,a'r
(B) LG mr_-@Gmn(Sqrr g €Dy @Garrr('ss‘;rr r5Csen .
(©) a_gGertGyr L Genandd Quilpr @Ga‘r&@m_r. FF;S';G'Q';GBT
D) e gGearmCGrr oL Aenencd LYl @G%rrrr@r;}r argHeSan
51.I Which of the following elements are Ca]ied _metalloids?.
@) Se,LTe S ) Ge, As, Sb
(©) In, Pb,Sn . (D) AlLMgNa

Bpssd ehss sefltonisd 2 Gorsl Cunalsdr erag amgé&sﬂu@ﬁ@gjwl
A) Se, I, Te : L _ (B) Ge, As, Sh

(© InPbSn - D) Al Mg, Na

52.  The unit of specific conductance is

(&) . Ohm'em®equt™ " ® OhmcmZmol™
" (©) OhmTlem? . o s& Ohm™'em™?
Hluws a5 Spealler cwe .
(A) Ohm“.lcm""eqvt'I ' o o B) Ohmtem?mol ™
(© -Ohmem? B (D) Ohmem™

RAGS/19 - 20



53. The first All India Congress socialist party was held in — in
(A) Madras-1934 N W Bombay-1934

(C)  Bengal -932 - (D) Punjab-1933 .

“Sienang b artiflyen Cograclcu’. sH" aiig aThHs e Ggrn_réjéiuuf_l;ga?
(A) Quigrev-1934  B) uibumi- 1934

(©) Quisme—1932 ' @ LgsMI-1933

~ 54.  Name the first Musjim president-of Indian National congress
(A) Syed Mahomed Bahadur (B) Syed Hassan Imam

(C)  Abul Kalam Azad | W Syed Badruddin Tyabji

Bpdu Caflw srmdlzeden apsed apavediv GigaiG . wri?
(A)  ewswi Qwrrémﬂmgl BE-£30 (B) aswg gprser @anb

(O sy somd geors 1)) mgug@ﬁdram_u_lrﬂ;@

55. Who established the Tattuvabhodini Sabha?
R w Devendranath Tagore . (B) Rajaram Mohan Rai

(C)  Rabindra Nath Tagore (D) Kesab Chandra Sen

ségieu CurHaf mus.;m.l Blmyelluscuir tum"r?
(A) GaGaupdfly Brs Smaad B) @onggmd Gmrréss&r il

(C) 'Quﬁﬁﬁqpnﬁ ST - . (D) Gssn apBnlacn

e ' 21 . | RAGS/19
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56. Who composed “Pancha Slddhantlka” the five agtronomical system?

(A) Brahmagupta . 1 - Varahamihira
(C) Aryabhatta | " (D) Subhandhu
“Ligpe .:ﬂg,g,rr‘m;@esrr’ CTEND GPHH| CUTEN @ua) cg{smmuq&asmm QsrEsseuT
(A) dpbw GosF - C (B  eugrentdidlgt |
(©)  efuocli O) sups

57. Match List I with List II choose the correct answer

List I List I
(a}  Aligarh movement 1. Maulana Muhammad Ali
(b) Deoband movement 2. Sir Syed Ahmad Khan
(c). Ahmadia movement 3. Maulana Hussain Ahmad
(d) Ahrar movement 4. Mirza Ghulam Ahmad
@ ® (c) (d)
A 1 4 2 3
B 2 . 1 3 4
* 2 3 4 1
D) 3 2 "1 4
uliguidd I-g Uligwé IT eLer Qummsd) sfluner ellanLen er(pgis.
C ulgwe I _ | g used 1T
(a) edlary Hussn 1. Gwéremer WpHHLOE) 6
(b) HACurbs Qussn 2. 7 IS HADDFGTEH
(€ ogpwur Quissd 3. Ghoeremar apoesa S@ADLOE)
(d) =g ‘@u._lai;a;r.b 4. e @ewmb 2 apiog)
(a) (b) (© (d)
@A) 1 4 2 3
B 2 1 3 4
C) 2 3 4 1
Dy 3 2. 1 4

58.  Which among the following newspaper adopted Liberty Equality and Fraternity" as its

motto?

(A) Bangabasi \A Sanjibani

(C} Amrit Bazar Patrika - (D) Indian Mirror

Sipsarapid usHRsmssails ‘EspdnD, swsseud sCTETEEEUD aims @@5@5“’6‘“"’5 Qamreir_
LsHNEms erg?

(A)  LhisLrs ) B) sanguraf

© - c@{r_brﬁlé;uavrrfrugﬁrﬂé;maﬁ : D) @oHwuer Hyr

RAGSO R o =



59.  Which one of the following statement is not correct?

.A Crude oil is found in metamorphic rocks

B) Cfude ol is fo_unci at the place of formation
(9] Crude oil Overlain with gases

(D) The origin of c_rude o1l is considered to be organic

&g’pée;es‘m__m Dibleb erg) Goummar a;ﬁlé;a?;s?

(A) =2 morfu urepsadid séar raw@eni sreTOLGADS _

(B) - gEeT arem@emmiiser o meuren @ asefiGe &n@ﬂu H&empen
(O  aber cramQertd aumuEsignLer sramOUBEamen

D) s&snmaemGami e peures e‘ilg;@co sflowns smHddapar

60.  Which of the following is a green house gas? - _
(A) _ ‘Oxygen _ J Carbon dioxide -
'(C) ' Hydrogen (D) Nitrogen

EETeTUH ST LFOL Gl UM GTH?

(A aselige ' (B) sniudt e Eamen(H

(C) anlygen ) (D) NBL TR
61. Chambalis the tributary of —————— river.

(A) Ganga | - J Yamuna

©) Saraswathi ‘ _ (D) Narmada

SO mﬁnug aThS SyLDHilen genearnray?
(A)  ashsT . B) wepen

O sgavad _ (D) minwens

s - | 23 | ~ RAGS/N9
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62.

63.

64.

“Evening primrose flower open at night and close during the day; ’. The movement known as
\A Photonasty o B) Epinasty
(C) Hyponasty _ (D) Wryctiinasty

<ipd WHSTET e LSS Ay Brels LRI HEHEEw Blspeiine

@) gl o | | B) Cuod Lss cuaried

©  ogliLes aueriéd S @) @rey asarisd)

Endospore formation is seen in

(A) algae = \ B) fungi.
)  bacteria o (D) viruses

aranGLreuCLNt e (eumésd s'rrewrﬁu@e.lg
(A) .urrﬂa;a’i | | , ®) g@aisisér

©) - unsefursss : ' D) oeaussvsdr

The animal starch stored m all animals is. -

(A)  Cellulose " (B) Hemicellulose

: (C)  Resistant starch - _ d Glycogen

Dwass doni@sfgih Calssu@w danmg eLmisstes]
@) QsogGand S (B) QapGsdgGans

© ey coris - (D) AeaCur@gen

RAGS/19 | 2 | e
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65.

66.

67.

~Find the probability of throwing a sum 9 with two-dice

1 ' : 1

& = - B =

36 : 12

1 B _ 1
© i w1

Fymen @ran(h LamL ST 2 HLGWD Qun@g, #0509 Hon_Lugperer flapssey II.IJITQI?

(A) 3% B) T
1 | - ' 1
© = - D 3

13

What is the correct translatioh of the following statement into Mathematical logic?
“Some real numbers are rational” '
{A) (Sx) (real (x)v rational (x))

B (zx) (rea.l (x) => rational (x))

N  (Sx) (real (x) A rational (x))

(D) (Sx) (rational (x) » real {x))

ég;assmm_ awrsdwsPer sfwrer sanfip Gsm_urr@ remen?
“fe QuLGWeTseT I9dnen @G

(A (Sx) @ouw (x) v Sememd (x))

B  (xx) @uis (x) - Génamd (x))

© (Sx) Quii () A Gemamdp (x))

D) _ (5x) (Qememd (x) ~ Quotis {x})

If po>(|pv qj is false, then the truth value of p and ¢ are respectively -

@& T,T . v T.F

(C) F,T. ' ' ® FF

p—>(Clpve) LS Feupres sabn arafid p, q -6 2 anentd m@ﬁlq pernCGu
@& TT ® TF
() FT D) FF

25 : . " RAGS/9
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68.  What percent of is ?3%'?

(A) 25% : | (B) 2.5%
g w0 @) 1000%
1 GO E«:m;r ST FHAHLD 7

35 DB 7 @ FEsoa sgelis

A 25% : B) 2.5%

(© 10% : (D) 1000%

69. The eighth term in the series 2, 6, 18, 54

, 54,... 18
(A) 4370 @( 4374

(€ 7443 - | (D) 7434

2, 6, 18, 54,... arénp avflens1en 8-1b 2 griyy
(A) 4370 (B) 4374
(Cy 17443 D) 7434

70. Find the greatest Number, which on dividing 1657 and 2037 leaves remamders 6 and
5 respectively?

Ay, 13 o - (B) 16
127 . | (D) 381

1657 oo 20378 w@éss myw WlelQuilu Farmens arems. BT UGHGOCLITE Bieneu
wpenpGus, 6, 5 g dw Bfeow smderpar.

4) 13 ' : (B) 186

€ 127 (D) 381

71.  In a triangle with area 48 sq. cm, its base is 4 em greater than its altitude. Theri the length

of the base of the triangle is
@ 8cm \J 12 em

(9N :16011_1 - ' (D) 10cm

48 Q=18 iy v e Qpé@srrmgﬁdzn. 2iFa B LILESD, s Gzl 4 Gs.d
SIFE1D eTafied pged Sy LiLGasHar Diarey |

(A) 8GQ&d. - (B) 12@s.b.

(C) 16 Qs.b. - ' (D) 10 @s.b.
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79

73.

Statements

Some pens. are books. All books are rods.. - _

Conclusions |

L A].l pens are rods ©

L | Somé pens are rods

II.  Some books are pens

IV. Al rods are _pen's - B - |
(A) Onlyl E_m'd IV follows _ M Only Ii and III follow

© Al follow = (D) Only II and IV follow
Qgmir

: éle)Guwrra‘;ase‘rr. LSSEDTE 5@51, adr LssERS@TUD G5luns £GS!
ey ' ’ |
- L o GuaTssesb @#ﬁmnﬁm@
' II:.I fev Cuenréaar LDL@CSQ: @éé?ﬁ.lrrﬁ,r_r;g
i, fe uéﬁa;réja;dr Guq:nrra.ﬁrélpg‘a
IV, e @ElEEnid Cuaandng

@) IbIVb bl peS shurers ® 1ol oo et sturag

(©  erévanGin sAunans o ©) III'i IV b wi (GG shiureng

23 B—6—FG 5D —8—HI |
(&) . W,87186 - . (®) D,86C7
w_ . .C’ 7’ 4’ E’9 - . -- (D) 'E) 8} 7-3 D’ 9

 23B-6-FG-5D-8-HI

(A) .. w: 8!.7! 1;6 * . ) - (B) D: 8:.6’ 0}7 .
© ¢74E8 . - (D E87D9

27 - RAGS/19
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74. The equivalent ratio of 2 : 7 is

-

@A) 47 B) 8:21

© 6:14 ‘  6:21

2 : 7 erenp eNfls58m @ Fiomer alldlgid
(A 4:7 : , B) 8:21

) 6:14 D) 6:21

75. At a particular time the-shadow of a tree is 8 m while shadow of a stick of length 3 m is 2 m
' find the height of the tree :

(A) 10m B) 6m

(C) 9m : wﬁﬁ 12 m

GHUALL Crrsdle @m wrgden Hlipd 8 8 wpmb Crrms eeter 3 18 2 wib QararL. @m Carelen

Blped 2 15 erafled orsdlen 2 winb srawrs
A 1048 ' B) 6.5

© 98 ' O 128

76.  7/5 of 58 + 3/8 of 139.2 =7

A 133.4 : B) 137.2
(C) 127.8 : (D) 131.6

586 7/5 + 139.2 60 3/8 =72

(A) 1334 - B) 137.2
(© 127.8 (D) 131.6

RAGS/19 28 o=



77.  The first industrial policy Resolution was issued on
(A) 1945 : . (B) 1947
| \5 11948 , @ 1950

apsed dsmiln Qararens 5r’rmrram.b HenpGaud jDI;I-LIL'_I_ (D
(4) 1945 ) B) 1947
(©) 1048 @ 1950

78.  In which year the National Development Council (NDC) was set up?

(A) - 1950 ‘ ‘A 1952

(C) 1953 - | (D) 1955

Gaélw Gobur_ @ sWad Bimeuiu L e[ ﬂg? ‘
(&) 1950 . ®) 1952
() 1953 L (D) 1955

79.  Which one of the following comes under fiscal policy?
(A) Bank rate policy

A Public Expenditure
(G} Open Market Operation

(D) Variable Cash reserve ratio

: ﬂ]s&fmémémﬁmggérﬁgj Hf&Qardransulien £ aimb?
(A) . cuisdl S
B) erder Qraey
(©) Qeauafl oiriasmg ‘[F)I_Gljl.q.&mﬁ: _

D) wsmb QIJ’IITé;EE @Oy eizn

= . S 29 | RAGS/19
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80. When the value of exports is more than the value of imports, then the balance of trade is

said to be

A Favourable balance of trade
(B) Unfavourable
(C) Balanced Trade

(D) Unbalanced Trade

@péewduier wiliomus stgib, gppiwduder wHlyY sabsors QmeED Qurws earer uarfls
BHlenew : | ' .
(A) engswrer cwenfls Hevaw
(B) atrrge;;mg')g) cuenfla Hlenaw
- (C) swwresstulL euesflsd

(D) swwrEsLLLTS eueflsbd

81.  Who are associated .with Green Revolution in India?
(A) M.S. Swaminathan and R. Venkatraman
(B) A.M. Khusro and M.S. Swaminathan
(C) © A.M. Khusro and P. Chidambaram

d M.S. Swaminathan and C. Subramanian

@pHureler usenols Yy Hew Hlapsd Gst![.rgmr'rse'rr wmir?
(A) M.S. saumfiprsen wHmw R. Qeuris_gmoes
B) AM. geagyCyr wpmbd M.S. seumdsmger '
(C) AM. @esCym wpmid P. Agburd
(D) M.S. saumfprsen whmn C. slQyweflwer

RAGS/19 80 ' ) =



82.

83.

Which of the following is correct:

@) Force= massx velocity

(ii) Acceleration = velocity/time

(1i1)) Work = Force x displacement

(iv) Power =W(':-rk / time

(4) (@), @) and () (B) (), (i) and (iv)
W ), Gi) and @) ©) @), G and ()

5 aipesaraip e creveu ol
()  oflene = Heop x HevsCausid
(i)  @&s - HewsCausid/sTald
() Goies - clcus @LOGUWTE
(iv) - Bmen = Gaueme/srab
@A) (i), (i1) Hy (1) ®B) @), Gid) LDLb@Lb @iv)
© @), (i) wHmd (v) . (D) @, (i) wppd (Gv)

The most stable nucleus is

(&) LHe' | . o Fe™

(c) e U235 . . (D) 80 Hgms

2185 Hlenssenenip QETETL. oIgnI&s(T
@) . .He' B) g e

(C) = U235 ) (D) 35 Hg!SB

31.
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84.  Which of the following vitamin is required for gonadal function?
" {A) Vitamin A . (B), Vitamin B
(O V1tam1n D . d Vitamin E

&(3!(9 Q&n@as&uul_@mmmpgm ehg  eweul L iflen @mu@uqy&& Loy
Csaauupdpg. ‘ o
(A ewlldearA C ’ (B) eardarB
(C) - evulLblewm D D ea ek
. - 85.- The Governors who misused their d.lscretlonary powers are
I.  Sankar Dayal Sharma
II. Ram Lal
III. Jag Mohan
IV. KX Shah
(4 TandII o A Il and 11T
(C)y IMandlV ‘ - . D I and IV .
gerg) Apundanrpems BOUDTE LWETLPSPW S @HBIEET WiTasT?
"L SRENT SWIET #fiiom '
II. Fmb e
III.  gsCorser
IV. KK agr .
@ Iopgoll ®) IIwpgnd I
© NpppplVv | - D) lopge IV
86. Whose Governments were dismissed in 1984?
I. _M.G. Ramachandran
1. 8.R. Bommai
III.  N.T. Rama Rao
IV. - Farocoq Abdulla ‘
. (A) Iandll : B) TandII
W landIV ) _ D) IMandIII
qur@Gm_nu 241 &) 1984-é a;ma}a;a;uul_l_g!? - -
I . M.G. prosspSyar
II.  S.R. Qumbeswd
III. N.T. prwgreu
IV. umé sgoor .
&) Twpgnll. ®) Twpgi I
© I vpmo IV (D) II m;bg_u.b' I .
RAGS/19 | 32
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87.

88.

89.

" Rearrange chronologma]ly

I. . The prohibition of Child Mamage Act
Il. The Dowry Prohibition Act

III. Sati (prevention) Act

IV.  Thie Immoral Traffic (Pre{fention) Act

@ LILILIV . ~
(© ILILLIV O ILILIV,I
arepeplity euflesluBsgl .I

I BYRbeos Hmoen gepL s L1
II. apgiemamgmL sleb

HI., sflge sl b

IV, eflussmy s sLLID

@& LILIILIV ® " IV,IL IO, I
© ILILILIV (D) HILILIV,I

Pick the odd one out
Municipal Corporation was setup in Madras in

1687, 1773, 1793, 1857

B 1687 ®) 1773

(© 1793 | (D) 1857

geuprarens Hés | _
QL _grdd ehs & E wenflud LIEESTTS gHUBSSUULL 5.
1687, 1773, 1793, 1857 .

@A) 1687 - ® 1773

© 1793 . D) 1857

Which is the fastest planet to revolve around the Sun?

(A} Mars _ ﬁ Mercury
(C) Venus : (D) Jupiter

@fwemer Wa eleyouns sHmin Gsmer ergs?
(A)  Qséueumis | S B) el
(C) Qeueref - D)  eflwmpeir

33 ' RAGSIIS
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90.  Which country shares its border with maximum number of countries?
China (B) Russia

(C) North America KT (D) India

2 &l ahs BrH Ve Hs01s wHD BrHSEHLE S o uslibhg Aarardng)?
(A) Eer B) pegwm
©) e QuissT D) @pdHwr

91. Which Indian Chief Minister wrote the Book “The:Garden of Life : An introduction to
healing plants of India” -

(A) M. Karunanidhi (B) Narayan Samy |
% Naveen Patnaik (D) Yogi Adityanath

“The Garden of Life : An introduction to healing plants of India” erérp mrenew erpdw @b

APSD DEODEFFT WIMT? g
(A) . ernb. s@merrmHlS B) ‘r_r,m):rru..lwﬁr &mud
(C) * melem LLpmWE (D) Curé yswnrs

'92. Expand SIM
ﬁ ' Subscriber Identity Module
(B) Subscriber Index Module
(C) Service Identity Module
(D) Sefvice Index Machine

&b (SIM) Ir;rdsrl_rgeh aflfleunéad erg)?
(A)  Subscriber Identity Module
(B) Subscriber Index Module
(C) Service Identity Module
(D)  Service Index Machine

RAGS/19 34 _ st =



93,

94.

95.

Which important prdcess of our nation is covered by Part XV Articles 324»—2Q? ‘
(A) Amendment _ ' {B) Compilation of laws
w Elections - (D) - Trade and Commerce

[BLd By 6n amﬂtu_si) swenwriy FLLgHG ugd XV, egrss 324-29-& Gﬁlsuﬁl'ésasuull.'_@d-rm
QrudpenD 6Tg? ' .

(A) AHmssd - B) s isafien AgTEny
. (C) Cairped . ,I | D) eigsed O euaila

’

Name_the document that is bilingual official document pi-ovided by Government of India to

‘prove citizen identity which is neoéssary_ when leaving the country |
(A) ETA ' ‘G Passport
(C) VISA _ (D) Aadhar card

Dbl G905 GTETLINS ‘@@Iﬁhﬁ@m @by ewFmssgIR B an@&.aﬁm euggm:aauu@m
Speuamgdlen QUi eraman?

B Qe ' B) umavGumrm_

(C) eflevm : ' _ (D) yswirsar®

What does Article 370 in the Indian Constitution contain?
(A) Election process

(B) . Emergency declaration

‘ M Autonomus status of Jammu and Kashmir -

(D) None of the above

s au&luwwmuu &L_L.gé‘lw agn$g 370 agmenss u;pgﬁl @gﬂulﬁ@ﬁmg?
(A Caized

B)  =euey fleved ysLamd

©)  mibap sveybiles semam &

@ Gopsmblu ageyfidma
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96. The Indian citizenship act was passed on

(A) 1952

B) 1953
(C) 1954

\ﬁ 1955

@‘r_'r;@u.l Gy yflens s 1b HlenpCoummiiul L yarH orgi?

@) 1952
®) 1953
©) 1954
© 1955

97.  Which one of the following is not a features of parliamentary government in India?
(A) Majority rule
(B)  Collective responsibility

% Political heterogeneity

(D) Secrecy.

Spsam_supile 678 QbW LTFTEsLED alwrrrr;usgﬁsh Sy DFL Boema?
(A) Qugburenento e_gl.'_él_ |

B) s lEuQurgiy

©) Sirflwe ueapssseramo

D) rsfwb ungETEs®
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98.

99.

100,

Goa conferred a stathood by the Goa, Daman and Diu Reorganisation act in the year

&) 1986 - v 1087

(Cy 1988 : i D) 1989

Cameur, Lmen whmib el | gfrenni & &l'_l_gg'}l& apaions Gsreur mrr_‘rﬁleo.m & LG 2,57 (H)
@) 1986 T @®) 1987
{C) 1988 . : (D) 1989

L]

'The Maharastra committee on Democrative decentralization was established on -

4) 1960 _ o M 1961
© 1962 o D) 1963

g T WwESeTTL.S LFeuen® ma;rrurrciq,q;urr S FHLRSHuG
(A) 1960 “(B) -1961
(C) 1962 - (D) 1963

Which one of the fo]lowmg is not correct‘?

(A) Comptroller and Auditor General of Ind.la {CAG) of India submits audit reports m
every financial year to the president of India and Governors of the State

(B)  Audit report is placed only in the Parliament |

' ﬁ Audit reports is not placed in the state legislature

(D) CAG draws salary and other allowances axre drawn from consolidated fund of India

&G Qan@é;&DuL@éTmmsmr;aﬂé) a5 sflwirens @é)d:@)‘

(A) a;m‘ra;@ DHMLD ;_r,mﬂa;mesg, FZons Feaait gaulleng Kl SH&THID @qmu& g,mmmrﬂl._@m
wrfle yepsisefl_apb gefléames cg[g_f)l&m& a@tﬂ&;a; Cenetmr(Rid

B) safsos fsma BrLmesmnSSd qu_(n)u_x gnsm Qainu CeuerGb

(C) wrfle &t Guyameasaiid fldms grésda Gaiw Gamauidana

(D)  sevEE LHHD SoNsME s@ns smweailler sbuemb wHEIL ReT Lgset GiHu Qg,rr@uq

BHusded Qmps sefissiu@dng
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If any defect is noticed in the Question Booklet after the commencement of examination, it
will not be replaced. -
Answer all questions. All questions carry equal marks.

You must write your Register Number in the space provided on the top right side of this page. Do not
write anything else on the Question Booklet.

An answer sheet will be supplied to you, separately by the Room Invigilator to mark the answers.

You will also encode your Question Booklet Code with Blue or Black ink Ball point pen in the space
provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to encode the above
information, action will be taken as per Commission’s notification.

Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for
each question. Your total marks will depend on the number of correct responses marked by you in the
Answer Sheet.

In the Answer Sheet there are four circles @) ,(®). (© and (D) against each question. To answer the
questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for
each question. Select one response for each question in the Question Booklet and mark in the Answer
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g. If
for any item, ® 1s the correct answer, you have to mark as follows :

®0 00

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the time of
examination. After the examination is concluded. vou must hand over vour Answer Sheet to the
Invigilator. You are allowed to take the Question Booklet with vou only after the Examination is over.
Do not make any marking in the question booklet except in the sheet before the last page of
the question booklet, which can be used for rough work. This should be strictly adhered.

In all matters and in cases of doubt, the English version is final.

Applicants have to write and shade the total number of answer fields left blank on the boxes provided
at side 2 of OMR Answer Sheet. An extra time of 5 minutes will be given to specify the number of
answer fields left blank.

Failure to comply with any of the above instructions will render you liable to such action or penalty as
the Commission may decide at their discretion.
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